UIT—UF I IISTT 2024—2025

P — UAfIBT 10t
forg — f2=
Igfy —3 gve 15 A= qUTi—40
1 IR BY APIR—
Eoks| SEGEP SICIN gforera
1. | s 09 225
2. | 3rdqw 15.5 38.75
3. | SO 07 17.5
4. | PrITe 06 15.0
5. | fageryor 2.5 6.25
T 40 100
2. U9l b UhRIN IFhIR—
$H.| U BT UPR (Ul bl | 3P | Bol | Gyd | ufdwrd | @wrfad
F&r | gl (a7epT ) (oreit Ay
Gd)
1. | og M= 15 75 18.75 28.30 25
2 | Rad w@mg 04 02 0.5 7.14 10
3. | AfdeTgRIHD 20 10 25 37.73 50
4. | THIRIHAD 07 7 17.5 13.30 40
5. TSN 3 4.5 11.25 5.66 40
6. IRECIREE 4 9 22.5 7.54 30
T 53 40 195
e
fdhey Ao : WUs ' UG ‘T He
3. fava a8 ®1 IAPHR—
B9, vy T PR gfererd
1| fafasT e 9 22.5
2 | f&fos ua 7.5 18.75
3 | @l 5.5 13.75
4 | FagIiRed GTHIOT 5 12.5
5 | @04 2 5.0
6 | e 3 75
7 | fasma= 2 5.0
8 | emufed T 3 7.5
9 | 3mfed U= 3 75

Ale — Bfd/oRgd IR & 3 3fdh RIS e SISHR T BT T ¢ |




U—UF UT 2024—2025

FHET — yaRraT 10 fawg —fF=d qAY 3 guc 15 e quiich— 40
.. S5 ElG| SCEIE) SFTIERT CaNE] fargeror THT

SIS /SUSHTS
1| e T 1% (1) AC DA 1] %o v (1) YO S0
2 | ifast we na ||k 10| %0 i (1) n 77 (1)
3| gl ACIRAC 1) 1) v | 3%©
4 | FIBIRD TR | vy | vy | ) 509
5 N9 v (<) 1(1) %0 2(1)
6 | ey " () 2(1) %0 3D
7| faseE 1o ) 20
8 | 3mfed = % (6) 30
9 |3mufed u= % (6) 3(6)

farfaeT =

arT 2@ (2@ | o sy [240 [s5an | [10@0) 66 |10) 1@ | 5@ 0 | 150
HEANT 9.(10) 15 % (31) 7(6) 6 (6) 2% () 40 (53)

fAhetl & TNl :— @8 ' TG ‘T ¥ UAd § U IARD [Qdhod & AC—hISH B g1 B G ‘bl DI TAT ey T &1 'UHl’ @ edd 2 |

Iz & fic Bad dlsd Ue U5 &1 ©, dfs &I U9 U3 FuiRd uredshd Td 3id AeHIgaR &1 B8R |




Aregid UNIeTl, 2025

Secondary Examination, 2025
THAT YU
Model Paper
fawg — fa=
Sub : Hindi
DT — Yafdrar 10™

Class: 10t
A : 03 TS 15 Al quTich © 40
| fAder —
1. TeTell Faye U+ Ued UF R M Afarid: ford |

2. | U B B AR ¢ |
3. Ul & SR o T3 SxR YRS | g ford |

4. 9 92T § MTRe WIS B, 8% SR Udh 1 ol ford |

5. U @] SR fol@ A Yd U &1 HAlD ey ford |



gug — I’

9.1) fr=faRed sgfdeearre el & ST oo Sk gRaeT # faRag—  (ux15=7.5)

i) FfeRed |e weal § Afddaras A &7 ISR & —

3) TR q)  dsdl
W) udd q)  fRErerm
ii) AFRIE v § USRI B 7
) B 9 3B
S SED 3} @
iii) fer=iforRad el # | JoT W BT IATEUT B —
) wel C) I B
d)  ¥ad 3 T
iv) ‘Irdreel’ Treg H GHNT BT UBR § —
&) feg wm E)
q) OgRY qa™ <) HHIRT |A
V) ATl BT 99 91s. H AdToll @ i a9 aTetr a1 —
) ARER BRI T d) AR A o
) X A el T)  HARCY HeA dld

vi) ‘ZaT Fd' MG ST & oEdh 8 —

) e 9 EgE I
) ] qUSRI T)  gadrs s

vii) =] HUSRI & e BT SRR 9T H |IIed ANTE 8T —
) D U B q)  Sf. T AT Bl
|) T sRrare &1 T) o= Al @

viil) ‘ereATs’ fh UBR BT are IF © —
3)  TIq 9" §) 3adg dqE
L) R T)  gR a=

ix) 9T B IS Bfd & —

o) o 9 e

| e 3 @



X) "1 Y o 9SIfERT / Bsfe BIS Uh ™ gkl ||
SWFd B Ufad fhaa! iR Hahd Hxal & —
) M q)  eHor
W) wRd q) W

Xi) ‘BERFA & @R § —

3) e U FRer q)  ARTSA

F) WY SR T) SN UdIq

Xii) T8 SYNRT IBI BIAAT BT Dald UMF & —
) W G q)  H«l
W) ?) I=

Xiii) AT BT A’ U H gD @ UGl ol@d DI fbd 1 A YHRA A—
) I q) . TR
[ IRE g) <Rg TR0

Xiv) AE—AHT 81 S U8 H IraT | died 993 [oad 7 fbeiad ge fie
CARNIECA AU

I  Te miaw Rig 9 TETED

) S 3T 3)  T® S
xv) ERIRMT & geT IR enRa ure &1 9/ & —

%)  URAN] q  F w forgar &2

) HY i forar? ]) Hl forgdr &2
72) Rad v @ gfit S — (19 iv) (sx4= 2)
() R 4= wTe&T BT JANT gaT IT oGS (W) U foly a1 & 9
................... I FET B |
(i) 39 AT BT 7T BB AR H oo fareroT 8 |



y.3) frfaRaa smfea Terme & tgdx gg MY UeAl & IR 30 IR
gRaer # faRag | (1w w) (45X6 +3)

fodl o g$ oTUST @ AIEAT AT W D BRU D AEHR A Sl
TUdH YHR BT 3MIT Yof a1 IHHREG AFIAGR BT & Sl & 99 $Ed
2| P TF P BRU R AT Sl & 77 MG FIAT 8 AR 9T ST
U5 9 9N BN @ faU| Y §¥ & BRU & Wey 9y & & 7@
BT AR G BT SR I 81T AR T FAST SIRAT & SO ST
T UYZART © T B BT R 9 & foly dRer &1 Ffde gFr sl
T8I, 39T WX AT 84T AMey b =g A1 g1+ ugenl |

() Swad rerer &1 I e fTRey |
(i) = BT uR¥Ia BTy
(

(iv) Tener H ¥ fAURT oeg &1 qAibgar) e gedR foflay?
(v) 1T Bd Uhe BT 8 7

(vi) I & oIy w1 ST T8l 2

v4) frefaRed smfsd v=iier @ dgax g8 7 UHl @ ST S+ Su) gRadT
fafaw ? (1aw) (15X6 +3)

H S—SiaT. &1 9R fog fhvar g,
fhy Y Siteq § @R fom fh=a g,
X faar & 3 g ST g
# Al & &1 aR forg v g

i) $W & HRUT W TG I & oY BIF. ATdzel Bl ®

H FE—g< &1 uA fHar o §,

H @ T S BT A far axa g,

ST B & DI, Sl SAT B I,
H e A9 &1 M A FHRar €

() Sudad werer &1 Ifa e forfeay |
(i) Sudad verer § v@ifdhd Ufadl o1 e T Hifey
(i) Preaer # Hfa fhadr U= HRar 8 ?

(iv) T faap! qoar g ?




(v) STa y=Iier @1 ol HdaAT Ry ?

(vi) BT foadr 9 HRaT & ?

Ggrs — '
FreifoTRad TTERRI® UeHl & STR @I 40 Wsal # forRag—
u.5) Hhd ® dYofar 9 gaieer @ dem o foifar & e fiar formr
T | SuYF B fhae e 9 9 I T T © 7 1

7.6) AN WEHIT UR FEING] BT RIT YA TSI UfSd UIs & AR W fafay| 1

U.7) TAHR B A9 § IRTaE faRay | 1

.8) 3cHDHY Hidal &I el g foifay | 1

7.9) “HeH Ig A 78| UBISI Sedl o | ol Blg W MB!I = qdien 8l
fAerT | Iua ar fhee ? a1 ®er ? 1

U.10) ‘AT HT A’ UT6 & SMER UR IO Siiad § 9241 @ Siaq § Wl P
7w fofag | 1

U.11) ‘3 Her gerr o ok foraar arer # AT Sy | 1

S

¥.12) frfaRed ufdd e &I gd) U8 Y Ul @ SuR foRay —(i 9 iv) (4x4=2)

TS B &l ol APUS T & T BIC [Sed DI Well AASIHY ORT QIR IHA oG
MY | A B Uldhe S foi =8 o | U 9o W @S $ 991 el B U
HHEUIE Hood 980 Jgiaem 9 ureeft 9R 98 o | 9MH a1 dl e @R difey
W I e § AR 989 g O ¥ oo @l fdl H e famad | faet @
=y feErg far Arar 81 9adl & I8 W der & oy g1 of fo=m # 81 ar @R
S 3rueref a¥g BT WH A W O B Ghd H B

i) ST AT § BBl BT 52T UK fbar 77 27?

(
(i) TP A & BT B FIT AT AT 2O ?

(i) o= # 90 oo @1 i@l # =y il fewrg fear?
(iv) fesd &1 99 TR DI goT BT o7 |




SIEI

AT W B FHT FEET BT oRE Scoby S4 o <@r a1 o4 &7 S91 9er
HRT| ShelldT 9T o7 98! §B K AR dIaT |7 of fbg g6 SR qrerliia=" wd
I AR AT 7 IT! FHS H U MR R WITET AR YA ey 4 WR &
SAIGT §HR BN 2| Tag, S8 & gaT 3R gl fiel off | R &1 & yafar
FIHR WA Pl g0 BB HURRI I Fga o) RAT| ST 921 §9R T 399 TR
@ B AN BT FEl gEa! g Aid @ F9@mr e dig w8 wd §

i) I I @I AT AT BT oA Scby Hd @l 7T 2

(
(il) STeMIfSd W 819 9< @ UfY 1ffd v i I&d o |
(
(

iii) T B Tdg, B RS faRmard forRav |

iv) fhd @aR 9 AT BT 19 U+ _IR Fi |

9.13) ffaRed ufdd vener of ugax g 7Y Ul & Sux fafag | (9 iv) (4x4=2)
el oRag arel ggari | 318l G AT 9e A | |

g, g+ Aife feara o | e Ssad Bie e | |

SBl pESaladl BIS A1 | o Juitil a9 AR el | |

<Ry gore A 91| § &g bl dfed s ||
TG Ggf31 oS Al | St &g Hes Wl R Aol | |
R qfFgR RS 3% WS | TR ol 58 W 1 GRS | |

() rearer # ®fd 7 Hemie' fod Fer € ?

(i) ‘ST HrESafAl B Ae | FT e 27?

(iii) Yg@et # b W IO IRAT TR fe@rs oy ?
(

iv) SUga B H fba—fdba & 7ed darg © ?

SRE
A T T 7

IR 1 B Tl © I

qfeat & Ul &1 91g. § a8

gl & et o Afger @



R—BTell el edl &1 o7 &7 B
FUR & R DI B0 BT
e gorm wora & ga1 &1 PRBA Bl

i) BT & IR HAA FT 8 ?

i) STad Hrearer #§ b A Jedl Bl IR Had fhar 11 572

(
(
(i) B fhadr wUR § ?
(

iv) B BT fhadr Fdpd Al 17 & |

U.14) ‘98I AE! q TSI T SR BT H | UNT 8 UrTal’ (1%)

I 91l ® gRT $al Ufad § ded & Ui e a1l 1 qr ard &) R da B

MR TR foray | (SR HHT : 60-80. I[3)
3=AdI

“gH A1g 9l BT ART AT A & A1 ol afe e s Augdt # ferger
ITHT T8 ART B! AT 3T 81 9 Febl [ 37U ATAR F=] ISR P Hf ITeb
forq amreel «dl €1 &7 | ?

¥.15) HIAHR Hfadl & AIH | Hfd 7 FHS =8 § {69 i & I a (14)
qUMAT 8 ? (SR AT ¢ 60—80 IT)

Sl
Sgd MG & 1 & IR 3~ YA & FHe™ # gt @t ) ?

7.16) Hfd ANTNIT & Afdaed gd g & I ¥ falkag | (1%4)
3AdT
JMYE THIgYT & fdkied d ffded @ IR # oty |



grs — T

¥.17) “gHTAT ¥ o) Yell, Qg ¥ Hid <ol Rafddd aran & SRME aRadr b a8
I fe I WR ol fYell 9 AW H ST arell dwfegal & U el H
foRag | (ersa AT 80—100 ¥1ec) @

SIREI)
“H ol forgdr g ?7 Ule & AR W 37 gRI @ & BRI Bl WL HITY |
9.18) f=ifelRaa fawai # & fo<ft vov fawg o= & 300 wrsst # ey forRag — (3)
(1) Ra # ¥ kgl I g9E@
i) SIRATET
i) &S

(
(
(i) A BT IUTG
(
\

iv) HId Silad 0 9 1d

) SUHER
(2) faemeft Sha=: ATdT Shae @I AR

EESIERL
(i) fa=mefl Sfig= & 1ot
(i) Y Sfra @ QY
(.v)ﬂﬁﬁﬁaﬂﬁﬁwaﬁaﬁﬁﬁ‘cm
(v) SUER

(3) wroreI 1 YfERIS eRER
(i) gTa-T
(i) ERIER & UPR
(i) fereTRie eRTERl @7 fagyary
(iv) Wed &= # arTe™

(v) SUHER



@) afe § gymremt S
EESIERL
(i) verETE @ S
(i) faerera ydes # arTeE
(iv) faemeff, siftrrass, SwerRal & @@ER
(v) SUHER

¥.19) @ Bl IATHI Iod ARAMNEG Aened YT &7 A AMG) FIHRER J8iey
DI Yol AwTe AT o i v fafay | 2)

SEL

TR BT JAAET A g 70 Ut @ o = forRaw e smus! ot aiie
GUrY U9 9T yEEE & 9R A §arn T 8 |

¥.20) TR UTfeld! SUHATE @ 3R W W8l SINTwdhdl 8g U@ dsnyd faag | (2)

STRIA[

TR H THrecH U9 88 gRT divd fadn RifeR & 992 78 arsft & gswin
<@ Bg U fasmua fafeg|



D&l — Praveshika 10th

UI—U Pl IIoT-12024—2025

fawg — sl
Jrafer —3 gue 15 e quifcs — 40
1. 99w TG APUR—
%4 SEGEP SICIN gforera
1. SNl 13 32.50
2. | 3fadr 11 27.50
3. | SR 8.5 21.25
4. | DI 5 12.50
5. | faweryor 2.5 6.25
AN 40 100
2 el & JBHR IR AHHR—
$.| U BT UPR (U bl | 3D | wosie | Fawd | ufded | @wrfad
F&r | gl (a7ebT ) (oreit Ay
k)
1. | 9gfdhdTcHD 15 Va 7.5 18.75 28.85 25
2. | Raazerm= 4 A 2 5.00 7.70 08
3. | sfergeRTT® 18 Y 9 22.50 34.61 30
4. | TIIRTHD 9 1 9 22.50 17.30 27
5. SBSSED 1 L' 1% 3.75 1.92 15
6. | FaeTcH® 5 1X5 11 27.50 9.62 90
1,x4
AR 52 = 40 100 100 195
e
fed JIeT : @vs ' Td '§ He
3. fvg g @1 IPUR—
Gkl [EERIER! 3B gfcerd
1 | Section A (Reading) Unseen Passage — 1 3 7.50
2 | Unseen Passage — 2 4.5 11.25
3 | Section B (Writing) Letter/ Email 2.5 6.25
4 | Story Writing 2 5.00
5 | Short Paragraph verbal /visual 2 5.00
6 | Section C (Grammar) Tense 2 5.00
7 | Reported Speech 1 2.50
8 | Subject verb Concord 1 2.50
9 | Active and Passive Voice 1 2.50
10 | Framing Question and Que.Tag 1 2.50
11 | Section D (Text Books) first flight Passage 3 7.50
prose
12 | Textual Questions 7 17.50
13 | Poetry 4 10.00
14 | Footprints Without Feet 6 15.00
Total 40 100




‘h&T — Praveshika 10th

U—UF UT 2024—2025

faeg — sirh

HHI:— 3 gve 15 fA9e

<.

.

SO

TP /TS
EZH]

TSI

EIRIEEIR

P

E

E

;

Section A
(Reading)
Unseen
Passage — 1

Y2 4)

)

3(6)

Unseen
Passage — 2

Y2 (5)

@)

Q)

4% (9)

Section B
(Writing)
Letter/ Email

2% (1)

2V (1)

Story Writing

2(1)

2(D)

Short
Paragraph
verbal /visual

2(1)

2(D)

Section C
(Grammar)
Tense

15 2)

5 (2)

24

Reported
Speech

%)

1)

Subject verb
Concord

15 (2)

12

Active and
Passive Voice

15 2)

1(2)

10

Framing
Question and
Que.Tag

15 (2)

1(2)




11 | Section D (Text 2 () 36)
Books) first
.00 S) S ¥ (3) 2303
flight Passage
prose
12 7 (5)
Texm?'l 1(2) L(1) 24 (1) 1% (1)
Questions
13 | Poetry 13) 1(1) 4@
14 | F rint 6(7)
OOtp S 72 (4) 1(1) 2(1) 1D
Without Feet
arT 6%(13) | 1) | 3% |2 1Q) | 3%@) | 4@ 2% (1) | 10 2@ |1 4% (2) 1M 42 T |
SERI 13 (24) 11 (14) 8%4(9) 503) 2% (2) 40 (52)

Alc—hIDBPh & dEY B & ‘Il P 9l R @) G=T ‘UFHI’ & aldd 2 |

U G&T — 3,45,11,15 H IR fdbed & |

I  filc Saat died T=A 03 #1 B, 9 &1 WA uF FMiRa urgusH v 8id AreHrgar & B |




Secondary Examination, 2025
Model Paper
English
Time : 3 Hours 15 Minutes
Maximum Marks: 40
Class - Praveshika 10

GENERAL INSTRUCATION TO THE EXAMINEES :-
. Candidate must first write their Roll No. on the question paper compulsorily.

. All the questions are compulsory.
. Write the answer to each question in the given answer book only.

4. For question having more than one part, the answers to those parts are to be written together
in continuity.

. Write the correct serial number of each question as mentioned in the question paper.



Section — A
(Reading)
1) Read the following passage and answer the questions that follow:

The Rig Veda is India's most ancient text. As we know that it is several thousand years old.

It gives the northwest region of the Subcontinent the name 'Sapta Sindhava', that is 'the Land of the

seven rivers'. The word 'Sindhava' comes from 'Sindhu', which refers to the Indus River. Moving

on in time, we see names for other parts of India appear in the literature. The Mahabharata is one of

India's most famous texts. It lists many regions such as Kashmir, Kurukshetra,Vanga, Kutch,

Kerala.

The Mahabharata uses the terms "Bharatavarsha" and Jambudvipa. Bharatavarsha means the

country of the Bharatas and Jambudvipa means the "Island of the fruit of the jamun tree".

i) India's most ancient text is : ()
A)  The Yujurveda B)  The Ramayana
C) The Rig Veda D) The Sama Veda
ii) The Word sindhava comes from ()
A) The Rig Veda B)  Sindhu
C)  The Hindu D) India
iii) The Indus river refers to : ()
A)  India B)  The Mahabharata
C) Sindhu D)  Sapta Sindhava
iv) The part which is not listed in the Mahabharata : ()
A) Kashmir B) Vanga
C) Kerala D) Bihar
v) Choose the similar word of the following from the passage :-
"Well known'": ()
A) Region B)  Refer

O Appear D) Famous



vi) Choose the opposite word of the following from the passage :

"Modern' : ()
A)  Several B)  Ancient
C) Famous D)  Northwest

2) Read the following passage and answer the questions that follow:

Harappa and Mohenjo-daro, now in Pakistan, were the first two cities of this
Civilisation to be discovered; their indentification goes back to 1924, a century ago.
Several sites followed in the Indus plains known as 'Indus Valley civilisation ;

Later on Dholavira in Gujarat, Rakhigarhi in Haryana, Ganweriwala in Pakistan
and Lothal in Gujarat were discovered. It is interesting to note that the Sarasvati basin
includes not only two major cities —Rakhigrhi and Ganweriwala but aslo several
smaller ones Farmana, Banawali, Bhirrana in Haryana and Kalibangan in Rajasthan.

The larger Harappan cities were built according to precise plans. They had wide
streets which were often oriented to the cardinal directions. Most cities seen to have
been sorrounded by massive wall and had two distinct parts — 'the upper town;' where
the local elite lived and the "lower town" where common people lived.

Some large buildings seen to have been used for collective purposes — for
instance, warchouses where goods were stored. Individual houses of various sizes
lined the streets and smaller lanes. The construction was the same for small and big
houses. All buildings were made of bricks.

The famous 'Great Bath' in Mohenjo-daro, a small but elaborate tank which
measured about 12x7 metres and had waterproofing materials applied on top of
carefully laid-out bricks. The tank was sorrounded by small rooms, one of which
contained a well; there was a drain in one corner of the tank to empty it from time to
time and refill it with fresh water.

i) Where are Harappa and Mohenjo-daro ? ()

i1)) When were the Harappa and Mohenjo-daro civilisations discovered ()



iii) Where is Lothal civilisation ? (5)
iv) Where did the common people live ? ()
v) What was the use of a drain system ? (5)
vi) What was the purpose of the large buildings ? ()
vii) Mention the names of cities which belong from Haryana and
Rajasthan ? ()
viii) Write the similar word of the following from the passage:
"Huge" ()

ix) Write the opposite word of the following from the passage :

"Ordinary" ()

(Section — B)
(Writing)

3) You are Khushi living in Sidharth Nagar Ajmer. Last month you went to Udaipur. Write a
letter to your friend Somanshi describing her how you enjoyed this trip. You may take help of the
following points. (24)

1)  With whom did you go to Udaipur ?

i1)) Where did you stay ?

111) What places did you visit there ?

1v) Duration of the trip .

OR

You are Ritesh living at 47 Pratap Nagar Alwar. During the rainy season there is very poor
condition of cleanliness and drainage system. Write a letter to the editor of '"The Hindustan Times'
complaining about the sanitation problem in your area.

4) Write a story with the help of given outline in about 80 words. Give the title and moral to
it. )

bigger............ quarrel ............. a monkey .............. judge.............. cuts the bigger piece ............ piece

smaller............ cut the other piece .............. refuses ............ says.......... reward of his labour



A hungry fox........... in search .................. of food ............... avine..............
grapes......... high......... jumps............ tire ............ grapes are sour ............... goes
away.
5) Write a paragraph in about 80 words on the picture given below : )

You are Sangeeta/Sangeet. You go for a walk daily in the morning in the nearby park. One
morning you found a smart mobile phone there. How did you feel to find it and how did you find

the owner of the mobile phone and return it ? Write a parpagraph in about 80 words.

You may begin like this :

I am Sangeeta. I read in class 10™. I get up early in the morning............. .
Section — C
(Grammar)

6) Fill in the blanks with appropriate forms of the verbs given in the brackets :
i) The annual examination ............... next month. (Start) ()
ii) Towns............. into cities these days. (Change) ()

Choose the correct verb form from the given alternatives:

iii) Divya Pratap ............... recently.......... his syllabus. ()
A) have,revised B)  has, revise

0] has, revised D) have, revise ( )



iv) Sanjana............ food at this time tomorrow. ()

A) Will cooking B)  Will be cooking
O is cooking D)  cooks ( )
7) Rewrite the following sentences changing them into Indiret Speech :
i) Shlok said to Yatharth, "Let's play chess." ()
ii) Lavisha said to Bhojraj,"Do you read this book today ? ()
8) Fill in the blanks with a verb in agreement with its subject :
i) Slow and steady............. the race. (win/wins) ()
ii) People ......... celebrating Diwali. (was/were) ()

9) Change the following sentences into passive voice. :
i) Who stole the watch ? ()
ii) Did she write a story ? ()
10) Frame question of the following sentence :
i) How long ......coceeeeiie... ? ()
Ans. Kamal can read for seven hours.
ii)  Add question tag to the statement given below. ()
Pradhyuman will teach English, ..............
Section — D
(Text Book)
11) Read the passage given below and answer the questions that follow :

There was a girl named Valliammai who was called Valli for short. She was eight years old
and very curious about things. Her favourite pastime was standing in the front doorway of her
house watching what was happening in the street outside. There were no playmates of her own age
on her street and this was about all she had to do.

But for Valli, standing at the front door was every bit enjoyable as any of the elaborate
games other children played. Watching the street gave her many new unusual experiences.
The most fascinating thing of all was the bus that travelled between her village and the

nearest town. It passed through her street each hour, once going to the town and once coming back.



The sight of the bus filled each time with a new set of passengers, was a source of unending joy for

Valli.

i) Valli was ............... Years old. (%)
A) Nine B) Ten
O) Eight D) Six
i1) Valli was standing at the........ (%)
A) Roof B)  Front door
C) Playground D) Street
ii1)  How many playmates did Valli have ? (2)
A) Two B) Six
0] Eight D) None
iv)  What was the most fascinating thing for Valli ? (%)
V) Based on your reading of the passage write about Valli: ()
vi) Write the similar word of the following from the passage :
"Observing" (12)
OR

Mij and I remained in London for nearly a month. He would play for hours with a
selection of toys, ping-pong balls, marbles, rubber fruit, and a terrapin shell that I had
brought back from his native marshes. With the ping-pong ball he invented a game of his
own which could keep him engrossed for up to half an hour at a time. A suitcase that I had
taken to Iraq had become damaged on the journey home, So that the lid, when closed,
remained at a slope from one end to the other. Mij discovered that if he placed the ball on the
high end it would run down the length of the suitcase. He would dash around to the other end

to ambush and hide from it, to spring up and take it by surprise.

1) Mijj played with .............. ?
A) Cricket Ball B) Ping Pong Ball
C) Cork Ball D) Basket Ball

i1)  Who invented a game ?

A) Writer B) Mij



0) 1 D) He

iii)  Writer had taken the suitcase to......... ?
A) America B)  London
C) Iraq D) Home

iv)  How did Mij discover the game ?
v)  Write about the playing items described in the passage .
vi)  Write the similar word of the following from the passage : "Travel"
12) Answer any three of the following questions in about 20-30 words each : (1x3=3)
1) Why did Kisa Gotami go from house to house ? ( The Sermon at Benares)
i1)  Where is Coorg ? ( Coorg)
i11)  What does a jackfruit like appearance mean? (A baker from Goa)
iv)  Where did Anne Frank hide during German occupation? ( From the Diary of
Anne Frank)
13) Answer any One of the following questions in about 80 words : (21)
1) I'll take the risk" What is the risk? Why does the narrator take it?
( The Black Aeroplane)
i1)  How did Mandela's understanding of freedom change with age and experience?
(Nelson Mandela: Long Walk to Freedom)
14) Answer any One of the following questions in about 40 words : (1)
1) Write the character sketch of Natalya? ( The Proposal)
i1)  What is the reason behind the quarrelling of Natalya and Lomov ?
15) Read any one of the following extracts and answer the questions that follow: (
If ever you should go by chance
To jungles in the east;
And if there should to you advance
A large and tawny beast,
If he roars at you as you're dyin'

You'll know it is the Asian lion.



i) Where to go to know the Asian lion? (1)
ii) ~ What kind of animal is the Asian lion ? (1)
OR

Custard the dragon had big sharp teeth

And spikes on top of him and scales underneath,

Mouth like a fireplace, chimney for a nose,

And realio, Trulio daggers on his toes.

1) Who had big sharp teeth ?
1) What type of mouth and nose did the dragon have?

16) Answer any two of the following questions in about 20 words (1x2=2)
1) How does the fog come? (Fog)
i1)  Why is the boy so upset ? (The Ball poem)

i11)  Is Amanda an orphan? Why does she say so ? (Amanda!)

17) Answer any One of the following two questions in about 80 words : )

1) The twentieth century is called the" Era of the book" and the twenty first
century is the "Era of the computer". Do you think books are being replaced by
the digital content. Give your ideas about the usage of digital books (The Book
that Saved the Earth)

i1) _Scientists Contribute to make the world a better place. Griffin was Scientists
and invented something. What was the invention and what was the interesting

incident based on the story ? (Footprints Without Feet)

18) Answer any two out of the following three questions in about 20 words each: (1x2=2)
1) Who was Horace Danby ? Why did he steal something every year? (A Question
Of Trust)
i1)  Write the species and sub species of butterflies which was collected by Richard
H. Ebright. (The Making Of A Scientist)
iti) "I was really worried about Tricki this time; Who said this comment and why ?

(A Triumph Of Surgery)



19)  Choose the Correct answer :

1) How old was Horace Danby ? (A Question Of Trust)

A) 25 Years B) 40 Years
C) 50 Years D) 60 Years
i1)  Who was mighty ? (The Book That Saved The Earth)
A) lota B) Omega
C) Noodle D) Think-Tank
iii)  Where did the boys see muddy foot print? ( Footprints Without Feet)
A) London B) New York
C) Delhi D) Cap Town

iv)  What was the cost of diamond necklace? ( The Necklace)
A) Twenty Thousand Francs B) Thirty Six Thousand Francs
C) Fifty Thousand Francs D) Eighteen Thousand Francs

kokock sk

(4x4=2)
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1 I B IfHIR—
Eoks| SEGEP SICIN gforera
1 EiG] 23 28.75
2. | 3raqr 24 30.00
3. | S9N 14 17.5
4. | PrITe 9 11.25
5. | fageryor 10 12.50
T 100
2. Ul b UhNIRIHIR—
$.| UEl B UBR | UE B | b | woeid | Ufagd | gfdwd | Hwifad
F&r | gl (a7eBT ) (oreit Ay
)
1. | 9gfdddTcHD 18 1 18 225 33.97 20
2. | Raazerm= 6 1 6 75 11.33 15
3. | afergeRicT® 12 1 12 15.00 22.64 25
4. | TgTRIAD 10 2 20 25.00 18.86 35
5. é EiBﬁ‘éIEI 4 3 12 15.00 754 50
6. | FeuTcH® 3 4 12 15.00 5.66 50
T 53 80 195
e
ed Ao - @vs 9 vd ‘g He
3. fdwa a%g 1 SfpHR—
4. fawg a%q PR fererd
1| AT SIffhaT Td AHIeRRUl 6 7.50
2 | 3FcT &I UG oIduf 7 8.75
3 | urg 3R 37 5 6.25
4 | e Ud S9b I 7 8.75
5 | Sl UhH 8 10.00
6 | =0T vd gH=ayg 6 7.50
7 | g S99 &9 & B 7 8.75
8 | rdf3repdr 4 5.00
9 | UBTI—RTId dAT IUda= 8 10.00
10 | 999 I qAT F—fa¥IT IR 4 5.00
11 | fdega 7 8.75
12 | [Igd arT & Jraid yurg 6 7.50
13 | BRI GITaRoT 5 6.25
Rl 80 100
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Section - A

1. ggfdbourcqd U2 (1 | xvi)—

Multiple Choice Questions 18X1

=T Ueel & IR BT WE fAdhed o9 BRI YRS H farlay |

Choose the correct option to the following questions answer from multiple choice question- (i to xviii) and write it in given
answers book.

i) s &) T3 IfAfhAT & T H BN HAT N B— 1
PbO (S) + C(S)—> 2Pb(S) + CO; (g)

(1) < sl B R R | (1) PreTeTS3iirTss SUATId 81 &l ¢ |

(1) Bre= Suafdd & <& 2 | (iv) crsemaTES aRid 8 X8 § |

(e1) (i) wa (i) (Ef)() Td (i)

(&) (0).(i), (iii) <) Sygad w

which statement regarding the reaction given below is false -
PbO (S) + C(S)— 2Pb(S) + €O (g)

(D Lead is being reduced (IT) Carbon dioxide is being oxidised.
(IIT) Carbon is being oxidised. (IV) lead oxide is being reduced
A) (i) and (i) (@) () and (iii)

(&) (1),31),(ii) (g) All of above

(i) @e @ WIZTUT BT ST 9§ FaH & forg FrfalRad § 9 o (Y Suged & 1

SIS (@) e o

@) RN B wRa FeTdx (®) SUgad |

Which of the following method is suitable to protect an is an frying pan from rusting ?
(A) Applying grease (B) Applying Paint

(C) By zinc plating (D) All of the above

(iii) T @1 *vfdds ¥ CoHe & 398 — 1



(31) 6 AEAETOId AT 2 | (@) 7 AEHASID M ¢ |

() 8 AT MM 2 | (3) 9 AT FUNIH A= T |
The molecular formula of ethane is C2 He, it has

(A) 6 Covalent bonds (B) 7 Covalent bonds

(C) 8 Covalent bonds (D) 9 Covalent bonds

(iv) Fe, 0s+2A1 — AlL,Os + 2Fe
SR T T AR fHH IPR & § —
SINEISERSIEIER (@) fafazemus srfafean
(@) foaroe aifafear () faxemus srfafsean
Fe, O3+ 2AI —» Al,Os + 2Fe
Which type of reaction is given above -
(A) Combination reaction (B) Double displacement reaction
(C) Decomposition reaction (D) Displacement reaction

(v) Bz faera o198 & U9 U dad | SIMfhdT BReb U I Icd~1 Bl & Sl
T B UM Bl GRRAT PR <l © | 59 [ @l 71 qargu—

(31) Nacl @) Hal

(|) Licl () kal

A solution reacts with ground egg shell to produce a gas which turns the lime water milky.

what will be in this solution.

(A) NaCl (B) HCI

(C) Licl (D) Kkl

(Vi) @M 99910 9T IfS 9 I dell drex o Plell 81 I8l § df 39T Aded © b —
(31) WIoH g RE W AR UBT & | () ST G kg 9 el o & T
() See e B (8) ST QR TRE ¥ A T & |

If the bottom of the vessel is getting black from outside while cooking food, it means that -

(A) ) Food is not cooked completely (B) Fuel is not burning completely.
(C) Fuel is wet (D) Fuel is burning completely
(vii) TTeU # STTSe STRGRT 28—

(31) STt @1 g8 (@) WIS &1 984

(%) THIAT ar%et BT a8 () SifeRiIST 1 a8+

In a plant xylem is responsible for

(A) Transport of water (B) Transport of food

(C) Transport of amino acids (D) Transport of oxygen

(viii) fer=faRad & & P9 urey 8MH 8 —

(37) =gfera (@) emaRifae

(W) TR (z) wrgT@TEf

Which of the following is a plant hormone -

(A) Insulin (B) Thyroxine

(C) Estrogen (D) Cytokinin

1



(ix) e a1 # e B forv ARTSS BT BT 91T SRR & —

(31) vHRaws (@) AegHRTSn

(@) TR (2) sTgUReTd

Which part of the brain is responsible for walking in a straight line -
(A) Cerebrum (B) Midbrain

(D) Cerebellum (C) Hypothalamus

(x) opftar # ST @1 fafer & —

(1) fes (9) wgsH

(®) groed (%) BT

The method of reproduction in Amoeba is -

(A) Binary fission (B) Multiple fission

(C) Regeneration (D) Budding

(xi) STgaRIear & SHd 8§ —

(31) ATSHA HRIS (@) IR SiF Heod
SUBAEUREIERE] (|) e
The father of genetics is -

(A) Michael Faraday (B) Gregor John Mendel
(C) Marcello Malpighi (D) Newton

(xii) FefeiRaa & | JIfd® acd & —

(&) Tred OREL

(&) arg () w1
Which of the following is a biological component -
(A) Plant (B) Soil

(C) Air (D) Water
Xiii) STl T RUE ruadid & —

3) 15 9) 1.31

3) 1.33 ]) 2.42

The absolute refractive index of water is -

A) 15 B) 1.31

C)1.33 D) 242

Xiv) aR<fIS FIR Td MR QIR & AL FHT BT IR I BT 8—
31) 10 fAqe q) 5 fec
¥) 2 e J) 8 e




The time difference between actual sunset and apparent sunset is approximately -
A) 10 Minute B) 5 Minute

C) 2 Minute D) 8 Minute

xv) Big [IE[d 9ed, 220V & SIF 4 ST 831 © | IS ded F 0.5 VHRR I fdgga
YRT JaTfed Bl 8 AT 9 @ ofad arefi—
1) 11 dIc d) 110 d@Ic

9) 440 9 g) 220 dIC

An electric bulb is connected to a 220 V generator. If 0.5 ampere current flows through

the bulb than the power of the bulb :-

A) 11 Watt B) 110 Watt

C) 440 Watt D) 220 Watt

xvi) ol aretd & ufeRieg &1 719 fiR Rl 28—

31) ATAD DI TS TR d) ATAD D U BIC b &FAhel TR
H) TAD D Uard B Uhid IR F) SWITT ¥l TR

The Value of resistance of a conductor depends on -

A) The length of conductor B) The area of cross- section of conductor
C) The nature of material of conductor D) On all of the above
xvii) UL & FHY fdgd gRuy H GRT BT A —
37) uRafda &l 8rar 5| @) FRax uRafia g 2 |
W) 98d A B Ol & | <) 98 &b 9 Sl = |
At the time of short circuit, the value of current in the circuit -
A) Does not change B) Vary continuously
C) Reduces substantially D) Increases heavily
Xviii) TEE & TN gal § IR Bl g
31) SMHYT ) gfayor
W) IMHYY g YIHYT ) SWRIGT | A Blg A8l
The homogeneous poles of a magnet have mutual-

A) Attraction B) Repulsion



C) Attraction and repulsion both D) None of the above
2) Rad v @1 gfd #Ifsg : Fill in the blanks- 6x1
i) o afssrl (@t ga) @1 faafed 8lax e Re a9 ... arfaferar 2|

The decomposition of green vegetables (Vegetable matter) into compost in

the reaction of ....covvvveevennvennnennn.

ii)3 MnO, (S)+4 AL (S) 2 4 o F e T

sMnOs (S)+4 Al ($)—2  +ooooo it Heat
1111 IR T TR D df¥eT 95 99 B |

.................. and .................. together form the central nervous system.
iv)3Toie WRa gF & 3 aTefl.. q GRell UEH PR © |
The ozone layer provides protection from ............ coming from the sun.
v)Ikwh &7 919 ............... S & TR T |

The Value of 1 kwh is equal to ............ joule.
vi) U 9T fofue faeariel did & dR @ 3F1d BRI dlell delIhR HoSel bl
.................. B T |

A cylindrical coil with several turns of closely wrapped insulated copper
wire is called a .............
3) RTINS U3 : Quesytion - 12x1

i) FEoI Sl {59 Ped ' ?

What is homologues series ?
ii) I Td JATgTh WTel UGTAT &l ARgliod | YHIfad & fdhar Sidm &7
Why are oils and fat containing food items affected by nitrogen ?
iii) U a1l g9 & pH &1 919 6 BT 8, 81 99 o1 R s9a pH & A 4

T URadT BN ? FHSSU |

The pH value of fresh milk is 6,Explain what will be happens to

it’s pH when it become curd .



iv) AIfeT FARTSS Bl SoldeA fawg A= & FHi0r a1 | 1
Construct the electron dot structure of sodium Chloride.
v) YaIETd A9 9Tl I35 &1 A qa1sy | 1

Name the instrument which measures blood pressure.

vi) A9 If3PT 93 &) e VI AREFHS SPIs Bl ATH Idisd | 1
Name the smallest structural unit of the human nervous system.
vii) A & TRR # YT &1 99T fas gRT 9T &iem § 2 1
From where does the fetus get nutrition in the mother body ?
viii) S fbd @ed © ? 1
What is gene ?
ix) i ewar &1 S.I. 7 foRau | 1

Write the S.1. Unit of power of lens.

X) YTl & fIeor &1 aRMIia &g | 1
Define Dispersion of Light.

xi) frdT orTd UfeRe & gferE®: & RRI | 12v &) 9 & |3 &= IR gRue

# 2.5 mA fIgd =1 gaifd gidl & | UfcRiere &1 iRty aReferd Sy |

When a 12 v battery is connected across an unknown resistor, there is a

—_

current of 2.5 mA flows 1n the circuit. Find the value of the resistance of the resistor.
Xii) FHEH &3 @RI & DIs &l o7 fTRay | Vatia=1
Write any two properties of magnetic field lines.

Section — B

T TXTHD URH
4) TeferRad arfafeamell & fofy |=gfera FHIeRor oy | 2

B eTTH BTeSIISS+HIETSISI RIS — > BT HlaHc + oI

i) Sfp+ReaR A3t —— RN Agee+HRicHR

Write balanced equations for the following reactions



1) Calcium hydroxide +carbon dioxide——» calcium carbonate+ water

11) Zinc + silver Nitrate — zinc nitrate+ silver
5) [N @ AeHYR® 3 | fhar TR ST I Il & | MY SHDI gz dd
BHA? 2

Which gas is produced on Zinc’s reaction with sulphuric acid? How will

you Identify it ?

6) SHILH! MTRATSS R BI & ? TT SHILH! faATSS! BT ISTER0T G | 2
What are amphoteric oxides ? Give examples of two amphoteric oxides.

7) ARG TGET @ QR DI & [dgued DI FHISY | 2
Explain the break down of glucose during aerobic respiration.

8) Twcdrgdd fshar &1 = Afed dHs | 2

Explain the process of gravitropism with diagram.

9) SIS YW & Q] HIC BT AMIfdhd [ g9l g $H fdf= AT &l
SISy | 2

Explain the various part of a angiosperm flower by drawing labelled

diagram of its longitudinal section.
10) 991G ¥ fofir MeiRor 1 JIRRaT fors g1 FHS=Y | 2
Explain sex determination in humans with the help of a schematic diagram.
11) 15cm HIHA QI & 3fadd JUI § 25¢m S TR Th aR] IE@! 78 ¢ |
U0 ¥ fha T W Bl ud &1 @ 9 fF 9 ) e ufafds o @ | 2

An object is placed at a distance of 25c¢m from a concave mirror of focal length

15cm. At what distance should a screen be kept from the mirror so that a clear

image is obtained on the screen.

12) 3ifow dfad H 93 fonelt femefl &1 wamMuce wR forar 8o uel § &fers ekl ©

ge faemefl fod gfic Ty | QST €1 39 S9 & I~ 81 P &l SR TRy |

9 I B fHd SR FNfdd fhar <1 |dar g ? Vot 14+%=2




A student has difficulty in reading the black board while sitting in the last row.
What could be the defect the student is suffering from ? Write two reasons for the
occurrence of this defect. How can it be corrected.
13) TIRT &1 91 81U &7 | forRay | 2
Write Fleming's left hand rule.
Section — C
EICESHNEIES
14) DRI I8V | 1+1% =3
Give reason:-
i)  TRCR AT URY BT ATERM a9 H @1 @1 ST d1i2g ?
Why plaster of Paris should be kept in a moisture proof container.
ii) omAfd ST faega &1 @l i 81 Bl € Siaid 991 ofdl sial & ?

Why is distilled water not a conductor of electricity while rain water is ?

erdr
PR IATSY | 12+1% =3
Give reason:-
i)  HCl STeirg fderas # or=iig eiffiereror weffq axd & Siafdh Uebied @ fderadl #
AT & _Sfrcteror YefRid T8l 81 2 |

HCI show acidic characteristics in aqueous solution whereas it does not show acidic

characteristic in alcohol solutions .
i) U TRSIGAIRS I Y fored™d v @& T & ®f T8 ggerht 8 ?
Why does dry hydrochloric gas not change the colours of dry litmus
paper ?
15) i) T fREeE o fafa= fafeat awsmsy | 2
Explain the different methods of contraception

ii) FTgEa &9 Fed 87 1



What is menstrual cycle?

3T
i) Te PIRM®T Sial § g S drell Uoi+ @) faferdt sy | 2
Describe the methods of reproduction found in unicellular
organism .
ii) BTERT H B Ay | 1

Explain budding in Hydra .
16) i) wOrdl ud fawaad # ok qarsy | 1
Explain the difference between autotroph and heterotroph.

i) 0 T TN ga1sy R srtg feiaxoi gerel gataRer @ ywifad aRd © | 2

State two ways in which non-degradable substances affect the

environment.

e
i) STefra <At @ = S o8 ¥ fafay RS ta Sl R &1 @1 § ao
Tdh VT ST &1 RO BIIY 594 HF 9 $HF 3 () =R0T & | 3
- J— [ ]
Write the names of aquatic organisms in the order in which one

organism eats the other and establish a chain which has at least three steps.

— —

17) Ry,Rp @ RURRIY & 9 iRl & sroft 8 Ao &1 uRuer form a9qra aRuer
BT Bl URY (Jod UfcRIE) ST &R BT G UTS DI | 1+2=3
Draw a circuit diagram of the series combination of three resistors of resistance Ri,R»
and R; and obtain the formuta to find the total resistance (Equivalent resistance) of the

Circuit .

AT



R1,R2 T RUFRE & 9 UfeRIg®! @ URd (F9R) A \diord & aRuY s 99rar alRuer
BT Rl URIY (Jod TicRIE) ST DR DT G UTe DI |
Draw a circuit diagram of the parallel combination of three resistors of resistance Ri,R>
and R; and obtain the formula to find the total resistance (Equivalent resistance) of the
Circuit.

Section - D
BERCIS R
18) f=ferRad & TUPACATH®HRUT HIFTT — 1X4=4
i)  CH;CH=CH, ii) CH; CH,-OH
i11) CH; CH,-CH,-CH,Cl iv) CH; CH, CH, CHO

Give IUPAC nomenclature as follows.
i)  CH;CH=CH, ii) CH; CH,-OH
i11) CH; CH,-CH,-CH,Cl iv) CHs; CH, CH, CHO
37T
ferfeiRad Tt &1 AT 9918y —
i) Vg ® 3TFd ii) S
iii) e iv) BRI

Draw the structure of the following compounds

1) Ethanoic Acid i1) Bromo pentane

111)  Butanone 1v) Hexanal

19) 1) AT Urad TF BT AMifhd = 9=y | 2
i) METIR | ScAfIT 7RI BT AH 9 B ISy | 1
iii) TMHERI STl H g™ & T8 el Fi 8l 8 2 1
i)Draw a labelled diagram of human digestive system.
ii)Name and describe the function of the acid secreted by stomach.

iii)Why is the length of small intestine longer in herbivorous animals?



AT

i) 99a ScASE dF BT AHifed fE 9918 | 2
ii) g9b & PIg & B aRIY | 1
iii) o4 arared f&d Ped 2 ? 1

i)Draw a labelled diagram of human Excretory system.

ii)Write any two function of kidney.

iii)What is artificial dialysis.
20) UBIA & URIGA | T FT A © 2 3adel U Bl AT | Ufdfdd Ul &=l &1 fowor
ICEICRIEPASEIES 1+2+1=4

i) fm= (@) s = (C) R Rerd 21|
ii) fom (awq) wiea (F) wR Rerd &7
SWRIET [T Reaferai # ure ufifda &1 smeR g yafa 1 faRkay |
What do you understand by refraction of light? Draw a ray diagram to obtain the
image with the help of a concave mirror when :-
1) The object is located at the centre of curvature. (C)
1) The object is located at focus (F)
Also write about the size and nature of the image obtained in both the

above situations.

reran
THIY & 3Tac AT T FHIA & 2 I ol DI T o gfafdd g e &l
fpor o a8y STafdr —

i) o (avq) o = Rerd 21|

ii) fa% (a%q) 2F; 9 F1 & Heu Rerd |
SR gFi Reaferai @ yra ufafdg &1 R @ ygfa W falkay |
What do you understand by refraction of light? Draw a ray diagram to obtain the

image with the help of a convex lens when-



1) The object is located at infinity.
11) The object is located between 2F; and F;

Also write about the size and nature of the image obtained in both the above situations.

Q~
&
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P — UAfIBT 10t
fovg —amrfote fasm=

gy — 3 gv¢ 15 fAC qurich— 80
1, I TPAPHR—
%9 SEGEP SICIN gforera
1. EIS| 23 28.75
2. | 3raqrr 25 31.25
3. SIRIECIE 15 18.75
4, DIl 8 10.00
5. JITU 9 11.25
AT 80 100 %
2 gel & UHRARIBAR—
$H.| U BT UPR (U bl | Db | wosie | Fyd | ufdwd | @wrfad
F&r | gl (a7epT ) (oreit Ay
)
1. | Igfddbear® 18 1 18 225 33.96 24
2. | Raerm= 6 1 6 75 11.32 6
3. | AfdeTgRIHD 12 1 12 15.0 22.64 24
4. | THIRIHSD 10 2 20 25.0 18.87 50
5. SISk 4 3 12 15.0 07.54 40
6. | FeuTH® 3 4 12 15.0 05.66 51
ART 53 80 100 100 195
e
fdhey IIoT : Wvs ' TG T H ©
3. fvy axg @1 IPUR—
4. vy T PR gfererd
1 | I H IEAE BT 3T 4 5
2 | ¥MRA # IdIe 4 5
3 | qAUSAIGa fdga &1 g 4 5
4 | irerfiesor &1 g 4 5
5 | g8v1 WPl 3R smyfie g 4 5
6 | HEE 3R faard 3 3.75
7 | 99 3R a=uoiia e 2 25
8 | ST AHEH 3 3.75
9 | M 3 3.75
10 | SIS Tm Sor AT 4 5
11 CIRKILISEIE 2 2.5
12 | T SrfEraReT HI Siad NETy 3 3.75
13 | <1 D AERER 4 5
14 | HHdare 4 5
15 | S &9 3R it T 4 5
16 | XTSI <ot 5 6.25
17 | b= & aRomA 3 3.75
18 EEAN 3 3.75
19 | RGN TRl & 5D 5 6.25
20 | G IR W 5 6.25
21 | dTARRIT R AR Sreferawer 5 6.25
22 | SUHRHT JfEBR 2 2.5
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fawg: | fasi (SOCIAL SCIENCE)
Hef— YaRTaT 10
|9g: 3 " 15 faee quid: 80
wRIETet & forg |\ e
GENERAL INSTRUCTION TO THE EXAMINEES:
1. Teeff |duem e T UF R AMiG Jffarid: ford |
Candidate must write first his/her Roll No- on the question paper compulsorily.
2. 9T U9 A rfart 2|
All the questions are compulsory.
3. U U BT IR oI Mg IR YRS H 8l o |
Write the answer to each question in the given answer book only.
4. O w1 H A<IR® WUs &, I Il B SR TP T & o |
For questions having more than one part, the answers to those parts are to be written together in continuity.
5. U3 B IR o 9 Yd U= BT HAiD Aavyg ford |

Write down the serial number of the question before attempting it.

6. U UF & Rl g IS WU ¥ ¥l JbR 1 Ffe /R / faREmE 89 iR f{=T w1
@ U DI B ol A |

If there is any error/difference/Contradiction in Hindi & English versions of the question paper, the question of
Hindi version should be treated valid.

7. U39 HYh 14 ¥ 20 ¥ ARG fdhed 2|

There are internal choices in Question No. 14 to 20.
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SECTION- A

1. 9gfdhcuTcid T

(= xvin): 71 oAl & ITR BT &1 [Adhed T99 R IR gRADT H {1y |

Multiple Choice Questions

Choose the correct option to the following questions answer from multiple choice question- (i to xviii) and write it
in given answers book.

() 1834 ¥ fHA IR BT UGS W SRS Yob Fe YT fobar T ? 1
(3r) amfgar (&) sr=m

() fae= (@) =4

On the initiative of which state in 1834 was the Zollverein custom union established ?

(A) Austria (B) Prussia

(C) Britain (D) Russia

() STH 9 A I H BTl 93T §= BY A UTs il © 7 1
() =Ramom (@) HBRTS

(|) XToTeI= (]) @S

In which of the following states black soil.is Predominantly found ?

(A) Hariyana (B) maharashtra
(C) Rajasthan (D)Jharkhand

(1) WIRCIT avg Silg AREoT ffefFgH d o] fohar ar ? 1
(&1) 1970 (@) 1971

(@) 1972 () 1973

When was the Indian wildlife protection Act. Implemented?

(A) 1970 (B) 1971

(C) 1972 (D) 1973

(V) T § ¥ DIET SERT AT YR Dl ded ATl & wd H UgTh DR &7 1
(31) BT (@) Hdrie

() (]) ATl



Which of the following industries uses limestone as raw material ?
(A) Paper (B) Cement

(C) Steel (D) Motor vehicle

(v) =1 | 9 DI |1 uRRae e qRd W IS e 87

(&) wrgTeTTE @) <ot uRaes

(w) g aRaeT (3) WP uRas

Which one of the following is the most important modes of transportation in India ?

(A) Pipeline (B) Railways

(C) Airways (D) Roadways

(vi) =1 # 9 5 qwr ¥ faeg H§ W99 UBel IO B APl (b ad gs ol ?
SURCIEI @) sivs
(@) = () 9

In which of the following countries in the world was the earliest kind of print technology developed?

(A) Japan (B) England

(C) China (D).India

(VIl) STRFATe §IRT 9911 T 919 & Soid &l ScTad [ gRT fhar Tar ?

(61) =gt (@) et gom
(w) #ey geed (=) faer o
Who produced the steam engine designed by James Watt ?
(A) Newcomen (B) Michael wolf

(C) Matthew Boulton (D) Will Thorne

(Vi) 9o favag (1914) H M3 I & W H DIFET I AMHA Tl o ?
(@) faes (@) Wi

SRS (=) wa

Which nation was not included in the Allied Camp in the First World War (1914) ?
(A) Britain (B) France

(C) Germany (D) Russia

(IX) "MHR SHe’ ATHG HBAT fhas fordy ?

(37) g < (q) Darer qRET <4



(%) vraTS () armaTg fRre
Who wrote autobiography titled 'Aamar Jeeban'
(A) Rashsundari (B) Kailash Bashini Devi

(C) Ramabai (D) Tarabai shinde

(X) STABT ad g Bhg g7 2

(a1) 1944 (d) 1946

(|) 1948 () 1950

When did Sri Lanka become an independent nation ?
(A)1944 (B) 1946

(C) 1948 (D) 1950

(xi) Frifra & 1 Ao g2 &1 v =8 —
(81) ¥irar e (@) face werer
(@) dfdT () fRre

Which of the following is not a subject of the union List -
(A) National Security (B) foreign affairs

(C) Banking (D) education

X RT § 71 & 3 Afgemel @ fou Refor &) JaRer g —

(3) <iep (@) TST ||

(®) faem= g« (]) TEARIIRTST DT HLATY
In India reservation for women in which of the folioing -

(A) Lok Sabha (B) Rajya Sabha

(C) Legislative Assembly (D) Institution of panchayati Raj

(XIIl) TRATT AThas H el vl & —

(31) TP Tl (@) 3T g

(\) sgacia (%) 379 & BIs &I

Party system in Indian democracy is -
(A) One party (B) Two party

(C) Multi party (D) None of these



xiv) Fr=ifed & 9 fha oma= gommell d SRR ORGR &l e+ 8IdT &—

(31) oArepa= (@) roTaA

() dTRITR (@) a |

In which of the following system of government, responsible government is formed-
(A) Democracy (B) Monarchy

(C) Dictatorship (D) All of these

(xv) fa%d ¥ & AR A= <9 d [P & AER W oI w1 & oy fb|
ATICUS BT YN fhar Sirem 28—

(31) N 3 (@) ufa <afh 3

(%) = 3 (=) forot ama

According to the word Bank, which criteria is used to compare different countries on the

Basis of development

(A) National income (B) per capita income

(C) Household income (D) Personal Income

xvI) FFr=ifhd & & Bl Ale SR &Ral & —

(@) R T §b (@) d& 3 sfo<ar
(@) R Rea I () sfvsad d&
Which of the following issues currency notes -

(A) State Bank of India (B) Bank of India

(C) Reserve Bank of India (D). Indian Bank

(xvi) Fr=1 3 | STRHT @1 SIfieR el © —

(o1) YT U1 T SffErPR (&) =TT B SATDR
() GRetr &1 AfeDR (]) T H HHI BT JMTBR
Which of the following is not a consumer right -

(A) Right to be informed (B) Right to choose

(C) Right to safety (D) Right to reduction in price

(XVIIl) IR IR Bl ISR 917 dTeil AvqT & —
(31) fdzq =MUR WS @) faeg &
() |g<h I HY (T) RIS HaT By

The organization that liberalizes international trade is -

(A) World trade Organization  (B) World Bank

(C) United Nation Organization (D) International Monetary Fund



2. Reh I &1 gfd BIRTT — (19 vi)

Fill In the blanks : -

...................... is the main food crop of India-
(iii) T QW & 7T TIIN B FATAR BT oo FEd 2|
Trade in goods between two countries is called .................. .

(iv) ol T We—qier aref ... BT T AT HRAT ol 8 |

Democracy does not simply mean ruling by the opinion of .................... g

(v) U O] BT UTHidd FHEAN H IR ... &P B A T |

Production of a commodity from natural resourcesis a ...........ceeeeeennneen. Sector activity .

0 YR 3[ARIED Bl TUh ISTEN 2 |

...................... is an example of trade barrier .
3. SANTAGIRTAD T - (1 4 XiI)
(Fr=1 =i & IR TP = AT US dfth H Qo)

Very Short Answer type Questions :

(Answer the following question in one word or one line)

(i) STHTHT H 1890 & TH H BT fTART Aol A Bell 2

Which disease spread rapidly in Africa in the 1890 ?

(ii) "JSOT $5R DI <1 §g HSWIH o ©, Fad g1 AWl |" IuY<h HAT fhadl 2 ?
" Printing is the ultimate in something from god, the greatest gift." who said the above ?

(jii) o7 JINTeCH fEdl 51 1780 H hd AT UNh1 BT AHET PO fbar ?
Which Weekly Magazine did James Augstus Hickey start editing in 1780 ?

(iv) g 99 I Ut g I § Rerd g ?

Sunderbans Natinal park is located in which State ?

(v) RS T YA Al a8 TN Hal Il 737 ?

Where was the first cotton textile industry set up in india ?
(vi) TR Nerd &I fvaw @vel # dfer 1 g 2
Indian Railway is divided into how many Zones ?

(vii) TR Y HT AT Fal 27

Where is the headquarters of European union ?

(vii) "&F BT BT AT TSI I 31T A8t fhaT S Fhdl Ig foaT der o1 ?

Who said that "religion can never be separated from politics" ?




(ix) AP DT TP faRIvar faReg |

Write one feature of democracy .

(x) ART STHT T &7

What is demand deposit ?

(xi) TGRS B fhst e 2°

What is called a multination company?

xii) SUTRDT TRET0T A9 we gtRd fhar Tar?

Consumer protection Act. Was passed?

yvg — ¢
SECTION-B

THTRIAD T — (IR AT ST 50 9Meq)

Short answer type questions - (Answer limit about 50 words)

(4) fa=r |fY (1815) & <1 uRom dargy | 1 +1
Mention any two results of Treaty of Vienna (181 5) .

(5)XTM ART & R H A AT S 872

What do you know about the silk Road ?

(6) PT-T BN b Tl GAH WH B UR $7hT AT Siiad il IR |7 J91d IIT 2

Imagine, if the oil supply gets exhausted one day, how would this affect our life style ?

(7) IR BT T QT B BT A1 Id10 AR S8l Ig &l & Sl & S &3 Bl

faavor | Vatr1Vs =
Name of one staple crop of India and the regions where it is produced.
(8) TIT BT ATIHERT T STox] © 2.l BRI oIy | 1 4+ 1=

Write two reasons, why power sharing is necessary ?
(9) =2l T WIae=i &7 fSTsh BN SIl MRd BT g4 FRUeT <2 9974 & | 1+ 1=
Mention any two constitutional provisions that make India a secular state .

(10) TR TTHIT SHIR. RS FfAFIH, 2005 BT IOHIT ISV |

Explain the strategy of National rural employment guarantee Act. 2005.

(11) GelT SRISFTRT 3R J28~ SRIGHRT H 3R DI | 1+ 1=

Difference between open unemployment and disguised unemployment.

(12) ITSDHROT F Y FIT AHT 2?

What do you understand by globalization ?

(13) TATEROT H FRTGC & BB VA IQTERVN &I Gl §91G, ST MU U AU
< gl |

Make a list of some examples of environmental degression that you have Seen around you.

N
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SECTION-C

o

SRR g3 — (STR AT o THT 100 31eE)

Long answer type questions - (Answer limit about 100 words)

14. 33 30SAT HFAT =1 ARG Al I ST BT DY daiq (a1 ? A=Y | 3

How did the East India Company ruin the Indian Cotton textile industry? Explain.

3121471 / OR

3iENfiTes HIfT @ Fvid 8Y SIIShRI TR Udh oig faIlay |

Write an article on the inventions under the Industrial Revolution.

15. MO H I STl FUBY & TRIdb] DI GaT § IR DITT | (B15 Q1) 1%+1% = 3

Briefly explain the methods of rain water harvesting in Rajasthan. (Any two)

319791 / OR
frifdha @ T By |
(i) STt Sfred fAeE (i) 919 fgu Riarg gormed
Explain the following-
(i) Jal Jeevan mission (ii) Bamboo Drip Irrigation
16. RA H A FaRAT B FHIAT DY | 3
Review the federal system in India".
3121dT /' OR

AYare 7 87 Fudie &1 HecdgYl (RNl &l garsy |

What is federalism? Explain the important features of federalism .

17. 971 fafw2 @1 ve Hiegd € 98 axg fAlFwa & <19 BT gR PRl € |
RYT BIfTY | 3

Money is a medium of exchange. It removes the defects of barter- Explain.

379141 / OR
T & 3NTTTRS AT SHIUANNSG Gidi BT fad==T BT |

Discuss formal or Informal sources of Credit.
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SECTION-D

MEeTdHd 93 — (STR AT S THIT 250 9161)

Essay Type Questions - (Answer limit about 250 words)

18. G 31T 3ot b faRdR I guiF BT | 4
Describe the civil disobedience movement in detail.

379141 / OR

HRA H TG ST & HRON R UTdh o oIy |

Write a essay on the reasons for the growth Of Nationalism in India.

19. IS H SIS el &I [T el &1 e S | 4

Explain the various roles of political parties in a democracy.

J727dT / OR

ST ol & B B AT P |

Explain the functions of political parties.

20. 729 & SR I T 9 § ORim — 114141 = 4

Write the answer in the given map -

f=ferRad dot &l & IRT & @1 AR § Sifdhd HIfo |

Mark the following oil fields on the outline Map of India

(31) FIS BTS (Mumbai High)  (d) 3i@el¥eR (Ankaleshwar)
(%) f$74TS (Digbol) (T) S (Bassien)
3121471 / OR

f=forRad g v fATdd Ol & YRT & &7 A3 § Iifbd HIfU |

Mark the following iron ore exporting ports on the outline map of india.
(31) H’I‘:ﬁ—"ﬂi’aﬁ(Marmagao) () H"Iﬂfé (Mangaluru)
SR NELR (Paradwip) (_Q')ﬁ'?'l'l'@lm (Vishakhapatnam)
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el — YA 10t
fawg —forg
3Gy — 399 15 fAAe quTid— 80
1, I TINPHR—
. SEEea 3PN yfeera
1. | s 24 30
2. | 3rdqw 24 30
3. | SO 16 20
4. | PIOTA 8 10
5. | fageryor 8 10
T 80 100
2. Ul b UhNIRIHIR—
$H.| U BT UPR (U bl | Db | wosie | Fyd | ufdwd | @wrfad
F&r | gl (a7epT ) (oreit Ay
)
1. | SgRecas 18 1 18 225 33.96 36
2. | Rz 6 1 6 75 11.32 15
3. | AfdeTgRIHD 12 1 12 15.0 22.64 42
4. | THIRIHAD 10 2 20 25.0 18.87 40
5. | SIS 4 3 12 15.0 7.55 32
6. IBERIRIED 3 4 12 15.0 5.66 30
T 53 80 100 100 195
e
fdhey IIoT : Wvs ' TG T H ©
3. fava a8 ®1 IAPHR—
4. vy T PR gfererd
1 | I H=TU 4 5
2 | 498U< 4 5
3 | &I =R arel NRIH FABRT I 4 5
4 | fgard FHdRT 4 5
5 | HEFR Afor 6 7.50
6 aﬂﬁl 4 5
7 | Fcene Sarfaf 7 8.75
8 | Broprorafae uRea 8 10.00
9 | vt & go suanT 5 6.25
10 | 9d 6 7.50
11 | g1 9 HIRT eahd 5 6.25
12 | T &3%hd 3R T 6 7.50
13 | GTR=gdHT 13 16.25
14 | TS 4 5
AT 80 100




JT—U3 iU 2024—2025

DE — R 100 feg —rford HAY — 39v¢ 15 fAe quiieh— 80
P | S SIS /SUSHE Elii SEEIC) EIRIERIU PreTe faweror T
) E E E E
] Fc - o) I(1) 2(1) 4G)
2 | 98U 1(1) 1(1) 2(1) 4(3)
3 | & =X el RIH AHHRT 1(1) 1(1) 2(1) 403)
gH

4 | feama aHeRor 4(1)* 4(1)
5 | FAFOR SifoRIT 1(1) 3(1)* 2(1) 6(3)
6 | Friot 1(1) 1(1) 2(1) 4(3)
7 | Fcere safafy 1(1) 1(1) 2(1) 3 7(4)
8 | Brmfafder uRaa 1(1) 4(1y* 1(1) 2(1) 8(4)
9 | Popmiffa & g8 aguan 1(1) I(1) 1(1) 2(1) 5(4)
10 | 9 3(1)* 1(1) 2(1) 6(3)
11 | IO ¥ GaRT eFmhd 1(1) 1(1) 1(1) 2(1) 5(4)
12 | TOH &Fhd 3IR 3T 1(1) 12) 12) 1(1) 6(6)
13 qqﬂ%a—cﬁ (| 12 1(1) 1(2) 3(D* 4()* 13(8)
14 | ST 1(1) 1(1) 12) 4(4)

J1T 99) | 2| 6(6) 3 [ 4] 33| 33| 66 | 20 | 6@ 40| 2] 1(1) 63) | 3] 4| 20 6(3) 202) 6(3)

SR 24(19) 24(16) 16(8) 8(5) 8(5) 80(53)

fRdcal BT AT — WIS ' TG T & ISP H U AaRd fAhcd & ANS—hISH D g1} P G&AT ‘APl B AT 3ieR & &1 Ul & =odd 2 |

g < fic dad Afed Ued U3 &7 &, 9IS &I Ued U3 FEiRd urdushd Td 3ie AISHIgER &1 8 |
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SECTION- A

1. ggfamedt U= (9 xvi): 99 T2l & SR &1 98I [Adheu I97 B Sz gRaer #
ferfay |

Choose the correct answer from multiple choice question- (i to xvi) and write in given
answers book.

(i) HEmRIl 6 3R 20 HT ST TURIUS fafdy H Lem B —

@) 2 @) 120 @) 60 (3) 6
LCM of 6 and 20 by the prime factorization method is -

A 2 (B) 120 0 e () 6
(i) IBUG ¥’ —Tx+12% DI BT IRT © —

@) -7 @ 7 &) 12 (?) -12

Sum of the zeros of polynomial x> —7x +12 is -

A -7 (B) 7 (C) 12 (D) -12
(iii) BRI 3x+2p=7H Ak x HT A 5 & ATy BT A & —
(1) 4 @) —8 () —4 ) o

In the equation3x+2y =7, if the value of x is 5, then the value of  is -

(A) 4 (B) -8 (C) -4 (D) 0
(iv) &1 7T MRl H DE 11BC, AD = 1.5 cm, DB = 3 cm TT AE = 2cma Ol EC &I A &

(31) e @) 4 w0 (&) 45 991 () 35 WA

In the given figure DE Il BC, AD = 1.5 cm, DB = 3 cm and AE = 2 cm, then the value of EC is -



(A) 6cm (B) 4cm 45cm (D) 3.5cm

(v) T3l (2,3) 3R (56) & 1 @I T & 1
@) 243 @) 32 () 18 @ 6
The distance between the points (2,3) and (5,6) is -
A 243 B 32 © 18 (D 6
(vi) IfE 0=45°8r @I ﬂaﬂ‘ﬂ;{%— 1
sin 20
@) 1/2 @) 2 (@) o ) 1
If 0 =45°then the value of M is -
sin 20
A) 172 (B) 2 © o D) 1
(vi) U SR B BT TS T SHBI BRIT BT IS BT A 1:4/3
g Al g BT ST BIvT B 1
(@) 300 @) 45° (&) e0° (3) 90°

If the ratio of length of vertical rod and length of its shadow is 1 : \/§ then the angle of elevation of sun is-

(A)  30° (B) 45° (C)  60° (D)  90°
(viii) IS T fdg P ¥ 0 B dlel fHAT g TR PA, PB TR YWV TRER 80°SH HIUT TR
@1 81 Al LPOASRIER 2— 1
@) 500 (@) 60° (9) 700 ()  80°

If tangents PA and PB from a point P to a circle with center O are inclined to each other at angle of 80°
then ZPOA is equal to -

(A) 50° (B) 60° (C) 70° (D) 80°
(ix) 14 |HT ST drel o H 9 3T g I aRfY gefi— 1
@) 22 9H (@) 44 () 33 ¥ (@) 55 WA
The circumference of incircle of a square with side 14 cm is -
(A) 22 cm (B) 44 cm (Q) 33cm (D) 55 cm
(x) PIOTOTT FSUEUS & T AT B TH&Ts o— 1
-2 o @ Lo @-Lxonr @) - x27r

180° 360° 90° 720°
Length of an arc of a sector of angle is -

0 0

(A) X 27r (B) X 27r (Q X 27K (D) x 27y

180° 360° 90° 720°



(x) o9 & Th YS BT URAY 28 WA & Al & BT 3MATH o— 1
(@) 343 TP @) 196 wHe (|) 204 (]) 4144 TP

The perimeter of surface of a cube is 28 cm, then the volume of the cube is -

(A) 343 cm? (B) 196 cm? (C) 294 cm? (D) 4144 cm?

(xi) T R1a® B I IR IBTAT Al 2 | B H HA [P O A & Uildwar g — 1
@) 1/4 @ 1/2 @) 3/4 () 1

A coin is tossed twice. The probability of getting at least one head is -

(A)  1/4 (B) 1/2 (€  3/4 (D) 1

(i) Ry gATH AT V27 B T PR W U UTpd HEIT U Bl 8,98 21
(1) 3 @ 3 @) 9 () 343

The lowest number, when multiplied by \/ﬁgives a natural numberis -

(A) 3 (8) 3 (©9 (0) 33

(xiv) 98UG & x° —x— 6D o— 1
(@) 1, 6 @) 2, -3 E) 3—2 (g) 1,6

. 2
Zeros of polynomial x* —x—6are -

(A) 16 (B) 2,-3 (© 3-2 (D 1,6

(xv) THIBROT 3x-5y+k=0 H AT x=2 TAT y=-2 8l @l K BT A & — 1
@) 16 @ -6 (| 6 (]) —16

In equation is 3x-5y+K =0, if x=2 and y=-2 then the value of K is -

(A) 16 (B) -6 (C) 6 (D)  -16

(xvi) AD 3R pm FSIT ABC 3R PQR &1 HHET: AIEA®GIY 8, Safds AABC~APQR

2 IfS AB:PQ=3:5 T dT AD:PM & — 1
@) 53 @) 9:25 (|) 35 (%) 25:9

AD and PM are medians of triangle ABC and PQR respectively, where AABC~APQR, if AB:PQ = 3:5
then AD:PM is -

(A) 53 (B)  9:25 (C) 35 (D) 25:9
(xvil) 10 HIeX HA H9R & RRER ¥ gl W U 95, &7 /a9 D197 30° 2 | fag
AMR & MR 4 ¢ &— 1
@) 1043 #rex @) \1/_—21%? (@) 10 #ex (@) 543 xR

From the top of 10m high tower, angle of depression at a point on earth is 30°, distance of point from
base of tower is -

10
—=m

&) 10{3m ® 7
(xviii)T® AR TR @] TRBTS,EH & $Hdls & aRER 8 Al GJ & ST BT ERT—1

(@) 450 (@) 30° (|@) 600 () 50°

(C) 10m (D) 53 m




The shadow of a vertical pillar is same the height of pillar, the angle of elevation of sun will be -

(A)  45° (B)  30° (c)  60° (D) 50°

2. R =l &) gfd ST (3 vi)
Fill in the blanks (i to vi)

() IS 3,7,9,x5 BT TR A 6 BT Al x BT AT oo BT | 1
The arithmetical mean of distribution 3,7,9,x,5 is 6, then value of x will be ............

(i) 975l (3,a) 3R (4,1) @1 4/ &I T V10 81 Al a BT A ..o BT | 1
If distance between points (3,a) and (4,1) is V10 then a will be ...

(i) 2sin” 60° cos60° BT HATT B, 1

The value of 2sin’® 60° cos 60°is ...............

(iv) Th do9 & RN BT &5hal 1549412 TAT 30D ST 21 4 & S BT AIAT ......
. BAIT| 1

The volume of cylinder whose height is 21cm and area of its one end is 154cm?, will be

(v) 9T 357,421,434 BT IGAD .......... = 1
The mode of the distribution 3,5,7,4,2,1,4,34 s .............

(vi) 10 3R 250 & &1 H ... |, 4 & O 3 | 1

............... numbers between 10 and 250 are multiples of 4.

3. 3ffel STYINIHD U

Very short answer type questions-

() B9 I BT AT S BINTY [THST &A% 497 T AH 7 | 1

Find the radius of the circle whose area is 497 cm?.

(i)TP I BT B W FH 3fd A BT UG ST HIY | 1
Find the probability of getting an even number on throwing a dice.

(iii) 10¥0) 9T Tt B9 @ w0 o TR A DI | 1
Find the length of the diagonal of a cube of side 10cm.

(iv) T TG T & IMER & FodT 531 T Hdls 12 FHI © I oq &1 fads
EEIMEISECINN 1



If the radius of base of a right circular cone is Scm and height is 12cm then find the slant
height of the cone.

(v) g2 1,3,2,5,9,11 BT ATTH ST BIFOTY | 1
Find the median of the distribution 1,3,2,5,9,11.

(vi) g2 3,7,5,2,6 BT AT A DHITOTT | 1
Find the mean of the distribution 3,7,5,2,6.

(vii) A P(A)=0.65 B, AT "A T&I" BT UTRIHT FTd DITSTT | 1

If P(A)=0.65, then find the probability of "not A".

(viii) 2(eh DT AT S D DI G folfay | 1
Write the formula to find the volume of a cone.

(ix) a7 STRTeA (10—25) BT a7 forg S HINTY | 1
Find the class mark of the class interval (10-25).

(x) T g H 7 ol TAT 3 B DA 8| IS 59 I8 H ¥ TP Dl Jigeed] Hahrel
SITAT &, a1 91 a1 UTRiedT & fdh I8 dar gha” 7 1

A box contains 7 blue and 3 white marbles. If a marble drawn at random from the box, what
is the probability that it will be "white"?

(xi) TfT TP T BT AT 448711 IR HaTs 7 Tl & a1 dof= &I BT F1d
T | 1

If volume of cylinder is 4487 cm? and height is 7 cm then find radius of cylinder.

(xii) UM 10 a5 UTdRd HARIT BT AR AR 1A I | 1

Find the arithmetic mean of the first 10 odd natural numbers.

QU §
SECTION-B
4. R1g PR3 +2/5Th uRAT He 2| 2

Prove that 3+ 2\/§ is irrational.

5. 9gUG x° —3® YLD A BINY AR DI qAT ORI & 1 & G bl FIdl dl Sl
BT | 2

Find the zeros of the polynomial x> —3and verify the relationship between the zeroes and the
coeffcient.



6. ST 3Bl B TUh T UG ISP 3(hT BT Folcd R g+l H&IT BT INT 66 & | Ife F=AT
P 3T IR 2 B AT AT T HITT | AT Fvear fohaT 2 | 2

The sum of a two-digit number obtained by reversing the digit is 66, if the digit of number differ
by 2, find the number, how many such numbers are there.

7. Ife Y AP. & UUH 14 UST BT ANT 1050 & TAT SHGT UUH US 10 g, d 20 df US
snﬁaéﬁwl 2

If the sum of the first 14 terms of an A.P. is 1050 and its first term is 10, find the 20" term.

8. & TS IMEK(A H AODC~AOBA ,£BOC = 125°3R/CDO=70° &, A ZOAB Mq
B | 2

R

hd

9. fa=gaill A(2,-2) 3R B(-7,4) BT Sl ATel YHGTE BT FA—FHITT A drel fa=gali &
frdere Sid BT | 2

Find the coordinates of the points of trisection of the line segment joining the points A(2,-2) and
B(-7,4).

10. I tan(A+B)=+33R tan(A—B):l;O"<A+Bg90°;A>B% Tl A 3R B &1 A

V3
ST BINTY | 2

If tan(A+B) = 3 and tan(A-B) = L; 0° <A+B<90°;A >BFind A and B.

V3

11. 1.5 WX 4T U Y& US il 9 285 HIex @l 0 R B | S9! i@l | oo
& RRER BT I~ BT 450 © | ol bl a1 qarsd | 2



A tower stands vertically on the ground. from a point on the ground which is 15m away from the
foot of the tower, the angle of elevation of the top of the tower is found to be 60°, find the height
of the tower.

12 T A=l gail B BFarg 5 T qA1 3 W 2| IS g DI I Slal bl A™lg A
DY ST BIC I DI e AT 81 | 2

Two concentric circle are of radil Scm and 3cm. find the length of the chord of the larger circle
which touches the similler circle.

13. a1 12 A1 d1el U T DI BIS SHAT s R 120° BT DIV JAART BT & | G
JORITS BT &ABE Fd DITY | 2

A chord of a circle of radius 12cm subtends an angle of 120° at the centre. find the area of the
corresponding segment of the circle.

Yis— Y9
SECTION-C

14. IS fHAT AP. & UH 7 UGT BT ANT 49 © AR UL 17 UK HI IRT 289 ©, Al SHD
UH n UGT &I IRT ST HIFTY | 3
If the sum of first 7 terms of an A.P. is 49 and that of 17 terms is 289, find the sum of first n
terms.
31qdr / OR
qE AP. ST DINTY FTAST IRIRT U< 16 &, iR 7 @ U 5 d US ¥ 12 31 T | 3

Determine the A.P. whose third term is 16.and the 7™ term exceeds the 5™ term by 12.

15. guisd 1 a5 (1, 7), (4, 2), (—1,—1) 3R (4, 4) TH 97 & AW 7| 3
Show that the point (1, 7), (4, 2), (—1,—1) and (—4,4) are the vertices of a square.
31141/ OR

I A 3R B AT (—2,-2) AR (2—4) 81 A1 fI=5 p & Fewn® S HISY difds
Ap=§ABmﬁstAmﬁ%gm 3

3
If A and B are (-2,-2) and (2,-4) respectively, find the coordinate of P such that AP = 7AB and P lies on

the line segment AB.

16. g #INY & &N g0 & aRvTa SR s T9agds 8T & | 3
Prove that the parallelogram circumscribing a circle is rhombus.

34T / OR
Rig PIY 6 g7 & aRTT a9 Iy &1 AR-—AHT BT Yol s IR FYRS Bl
3fART HAl B | 3

Prove that opposite sides of a quadrilateral circumscribing subtends supplementary angles at the centre
of the circle.



17. T Hell & BE & IR = 9ol § o T 28—

R (fpar #) | 20 21 22 23 24 25 26 27 28
Bl DI 1 2 6 7 4 2 3 2 3
Ksren
SIh] FHIIR AT SITd HIfIY | 3
The weight of students in a class are given in the following table.
Weight | 20 21 22 23 24 25 26 27 28
(in
Kgs.)
No. of 1 2 6 7 4 2 3 2 3
Students

3qdr / OR
i =1 §e &1 A1y 7.5 8, A P BT A4 A1 DI | 3
X 3 5 7 9 11 13
f 6 8 15 P 8 4
If mean of the following distribution is 7.5, then find the value of P.
X 3 5 7 9 11 13
f 6 8 15 P 8 4

gles— ¢

SECTION-D
18. U& FHDIVL Sl &1 $a18 SUD MR A 7 ¥ oA 2| Il ool 13 30 &1 &1, @
3 1 YOI SId DIfTY | 4

The attitude of a right angled triangle is 7cm less than its base.If the hypotenuse is 13cm, find the
other two sides.
3qdr / OR

FHIDHRT 3x2—2x+%=owﬁﬁzﬁwaﬁaﬁmaﬁ?ﬁﬂﬂgﬁaﬁwﬁaﬁaﬁm|
Ife 9 IRafde 8, a1 9= S diforg | 4

Find the dircriminant of the equation 3x?-2x='/3=0 and hence find the nature of its roots. Find them, if
they are equal.

19. firg Hifmg — | [LHESA

= CcoSecA + cotA 4
1-cosA




fl +CcosA
Prove That,|————— = cosecA + cotA
1-cosA

Rrg dIfSY —

sin® A + cos® A=1-3sin’ Acos’ A
Prove That

sin® A +cos® A=1-3sin” Acos” A

20. 791 IRAERAT 4 ¥ 98D A DIfoTg—

3qdr / OR

EINSIEY 20—30 30—40 40—50 50—60 60—70

B B GAT | 4 28 42 20 6

Find the mode of following frequency distribution.

Marks Obtained | 20-30 30-40 40-50 50-60 60-70

No. of Students 4 28 42 20 6
3qdr / OR

100 IRART H T=al &1 G&T 79 UBR B, §IdhT AEID ST DIfTT —

I b AT | 0-2 2—4 4—6 6—8 8—10

IRIART BT I=AT | 38 36 18 5 3

The number of children in 100 families are as follows, find their median.

No. of Children 0-2 2-4 4-6 6-8 8-10

No. of Families 38 36 18 5 3
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